
      
2020        14011401  

       ( )

  

) 1 (-   20  20-1  3  35   
) 1 (-   20  40-21  6  35   

 )1(  
  20  60-41  9  30   

  
) 1(20  80-61  12  30   

) 1(-   20  100-81  16  20 

  ) 1(-   20  120-101  20  20   

 )1(   
   -    -    -   -   -   -   -   -   -

  -   -   -    -   -        

) 1(  
  -   -   -  -    -      -   -  

   

) 1 (  
  -   -  -  -  -   -   -   -   - 
  -   -    -   -  -   -   -   

) 1(  
  -   -   -   -   -    -   -   -    - 

   -    -    -   -    

 

 
 
 
 
 
 
 
 
 
 
 
 

       
 )1 (     -   -    

 )1(              

) 1 (            

) 1 (           -   -   
 
 

 
 
 
 
 

      

     

    
:   

 :   

     

    

  
        :  923     (  )   : 6463 - 021  

   

   

  :120   :   115  

@physicsjeiroodi

forum.konkur.in

www.konkur.in



) 2 ( -  20  1401       :3     

  
  

  

  

1 -− = −
1 14 2 3 2 − −2 1    

1(−3 1 2(−
12 2   

3(1 4     4(− − −
1 12 2 3 

2 -              

1(= ∈ ≤2
1 15 2(= ∈ − ≤3 15 5   

3(= − ∈ ≤15 15  4(= ∈ ≤1 15
2

 

3 -   = + +2     4 =3 22   .           

 5       ≤ 0   

1( 252( 14  

3( 28    4( 12

4 -             

1( 172( 21  

3( 19    4( 23

5 -   4  ) (              −
1
2        

                

1( 8    2   .  2( 4      2   .    

3( 12    6   .    4( 1
2      1

2   .  

6 -     5 :+ + = + + +2 2 2 2 2 2
1 3 5 2 4 6 2          

1( −
2
5 2( 2

5   

3(     4( 2

) 1 (  35 

 /    
 

 1  35 

         
        ) 1(    10 :    

  10                10 
        

 10   10  

, , , ...

(1) (2) (3)

@physicsjeiroodi

forum.konkur.in

www.konkur.in



) 2 ( -  20  1401       :4     

7 -      =
2

3
         

1( 1
9 2( 9   

3( 3     4( 1
3  

8 -                        .

      

1( 13 9
8 2( 3

2   

3( 13 10
9     4( 13 3

2 

9 -             50  20           .    θ 

          α      (   )    < α θ <0 00 90   

1( + θ − α100 50 20   

2( + θ − α100 50 20  

3( + θ − α100 50 20    

4( + θ − α100 50 20

10 -− −
−

0 0 0

0 2 0
2 45 45 2 60

30 3 60
    

1( −
2
3 2( 2

3   

3( − 6
7     4( 6

7 

11 - − −    

1( ′ − 2( −  

3( ′ −    4( ′

12 -      40             .   20     

                    .15             

            

1(  5 2(  10   

3(  5  25     4(  10  25 

13 -                   

1( 182( 20  

3( 22    4( 24(1) (2) (3) (4)

�

�50
20

100

@physicsjeiroodi

forum.konkur.in

www.konkur.in



) 2 ( -  20  1401       :5     

14 - = + + +2 22 5 8 30               

1( 4 2( 3   

3( 5     4( 6 

15 -      4             

1( 202( 16  

3( 30    4( 36  

16 -    20    3   27   3   57          .  

1( 143
10 2( 143

17   

3( 10
17     4( 10

143 

17 -200                      3    

 .             

1( 40
3 2( 80

3   

3( 200
3

     4( 80 

18 -   2 5 16 5       1        2   .

1
2

   )2 5 (      

1( 2 2( 5   

3( 2     4( 5 

19 -    50         .                 

          30  45       030 0 58   

1( 16 2( 21   

3( 29     4( 35 

20 -    :     

1(  2(   

3(     4( 

  

A

B

C

@physicsjeiroodi

forum.konkur.in

www.konkur.in



) 2 ( -  20  1401       :6     

  

21 -− = −
1 14 2 3 2 − −2 1    

1(−3 1 2(−
12 2   

3(1 4     4(− − −1 12 2 3 

22 -     

1( ∈ − ≤ ≤5 5 2( ′∈ < <0 1  

3( ∈ >2 4    4( ∈ <2 4

23 -         10       84      

= − ∈2 1      ′ ′−   

1( 52( 3  

3( 7    4( 4  

24 -      40              .  20     

                    .15             

            

1(  5 2(  10   

3(  5  25     4(  10  25 

25 -   = + +2     4 =3 22   .           

 5       ≤ 0   

1( 252( 14  

3( 28    4( 12

26 -                   

1( 182( 20  

3( 22    4( 24

) 1( -   35 

    
 1  24 

(1) (2) (3) (4)

       .  

@physicsjeiroodi

forum.konkur.in

www.konkur.in



) 2 ( -  20  1401       :7     

27 - = + + +2 22 5 8 30               

1( 4 2( 3   

3( 5     4( 6 

28 -      4             

1( 202( 16  

3( 30    4( 36  

29 -    20    3   27   3   57          .  

1( 143
10 2( 143

17   

3( 10
17     4( 10

143 

30 -     5:  + + = + + +2 2 2 2 2 2
1 3 5 2 4 6 2          

1( −
2
5 2( 2

5   

3(     4( 2

31 - = ∈ − ≤ ≤1 4 = ∈ < <1 5 = ∈ < 3  −     

    

1( 2( 1  

3( 2    4( 3

32 -     ⊆ ⊆             

1( = ∈ − ≤ <2 1= −3 4 = ∈ − < ≤3 4   

2( = −1 3= ∈ − < <2 4 = ∈ − ≤ <3 5  

3( = ∈ − < <2 0= ∈ − ≤ ≤1 1 = −2 1  

4( = −2 4= −3 5 = ∈ − < <4 6

33 -              

1(= ∈ ≤2
1 15 2(= ∈ − ≤3 15 5   

3(= − ∈ ≤15 15  4(= ∈ ≤1 15
2

 

@physicsjeiroodi

forum.konkur.in

www.konkur.in



) 2 ( -  20  1401       :8     

34 -= ∈ ≤2 8  = ∈3       

1( 12( 2  

3( 4    4(  

35 - − −    

1( ′ − 2( −  

3( ′ −    4( ′

36 -           = 150 ′ ′ = 40 = 30 

′    

1( 1202( 80  

3( 70    4( 90

37 -             

1( 172( 21  

3( 19    4( 23

38 -  3 2 7 4 11 8 +20 29    

1( 5712( 637  

3( 1083    4( 1149

39 - −3 2 − +2 14+5 6               100  )  

(    

1( 162( 17  

3( 18    4( 19

40 -200                      3    

      .        

1( 40
3 2( 80

3   

3( 200
3

     4( 80   

, , , ...

(1) (2) (3)

@physicsjeiroodi

forum.konkur.in

www.konkur.in



  )2( -  20  1401       :9     

  
  
  
  

  

41 -  »   .   «   

1( .        2( .        

3( .         4( .        

42 -   = 090    = 067  .      )    (  

1 (<     2( <   

3 (>     4 (<   

43 -                

1 (21    2( 22  

3 (23    4 (24  

44 - = 078  >  .                 

  

1 (50    2( 51  

3 (52    4 (53  

45 -   Δ   1 2      .  Δ         1 2 

  

1 (1    2( 2  

3 (3    4 (   

46 -          

1 (       8  4      6 .  

2(       2     10  .  

3 (         5 .  

4 (       6        6 .  

) 1 (30 

   

 9  24 

         
        ) 1(     10 :    

  10                10 
        

 10   10  

A

B C

+1x 11-x

x2 +1

@physicsjeiroodi

forum.konkur.in

www.konkur.in



  )2( -  20  1401       :10     

AA12

5

7

B
C

L

D

447 -   =       .   = 042     

    

1 (24    2( 32  

3 (36    4 (40  

48 -    α     

1 (15    2( 20  

3 (25    4 (30  

49 -        .       5             

        

1 (       .        2(       10 .    

3 (       10 .    4 (      10 .    

50 -  = 4 5                 .      

                     

1 (6    2( 5/7  

3 (8    4 (9  

51 -                          .     

1( π5   2( 5   3( π6   4( 6   

52 -                      =   .      

              .              

1(      2(      3(      4(     

53 -                               8   .

       

1( 2 3    

2 (3 2   

3 (5    

4 (4 2  

 )1(-  

A

N

B
M

C

�

200 400
D

�5

A

B C

@physicsjeiroodi

forum.konkur.in

www.konkur.in



  )2( -  20  1401       :11     

a

105

20

A

C

H

B

554 -               

1 (     2  7  2     (6  

3     (5     4 (       2 .        

55 -   = = 8            3     .

          

1 (9  2 (5 5  3 (6  4 (4 5  

56 -     = °40  = °60                 

1 (5
6    2 (5

7    

3 (6
7    4 (7

5   

  
57 -    =                   .   

          

1 (  2(   3 (  4( 1
2  

58 -                         .

1 (>      

2 (>  

3 (>      

4 (>  

59 -          

1 (< <5 25  

2 (< <5 15    

3 (< <5 10  

4 (< <10 25  

60 -   »   .   «        

1.                (  

2.                (  

3    (    °180 .     

4      ( .  

A

B

D

C

@physicsjeiroodi

forum.konkur.in

www.konkur.in



) 2 ( -  20  1401       :12     

C

C

C

C40

20

0

0

0

0

0

24 2.

(ب)(الف)

cm

cm

22

17

  

  

661 -          20 04   25 4    )       2 54  

(.

1( 1  2 (5/2  3(10  4 (25  

62 -  4 α β                         

     

1( 6 44 10 4 10−× − ×     2 (4 44 10 4 10−× − ×  

3(3 44 10 4 10−× − ×    4 (3 34 10 4 10−× − ×  

63 - ( )      ( )   .                  

   

1( 0 2 4−   

2 (0 1 4−   

3( 0 2 20−  

4 (0 1 20−  

64 -   150               .1ρ        2ρ         .

      0 65  0 9   1
2

ρ
ρ

   

1( 2
3  2 (1

2  3(13
8   4 (16

21   

65 -      5            220            .

 125                 3 310 1 25ρ = ρ =´v] ¸ÄoÃvÃ±¬

1( 20  

2 (40  

3 (60  

4 (80  

   

) 1(30 
   / 

  

 1  37 

         
         )1(    10  :   

  10         
       10         

 10   10  

@physicsjeiroodi

forum.konkur.in

www.konkur.in



) 2 ( -  20  1401       :13     

(ب)(الف)

. .....

666 -   910                  .    365      .  

         )3 315 10ρ = ρ = (.      

1( 80  2( 93  3 (20  4 (17  

67 -     3      2      .     35 7     40   

   .          3π = 

1( 4  2 (8  3(6  4 (16  

68 -    

1  (        .  

2  ( .        

3(                 .  

4   (         1010− .  

69 -                    .           

         .

1(       

2     (  

3(      

4     (  

70 -                              .    

     .                    

1(  :   :   2 (  : :     

3(  : :   4 (  : :     

  

@physicsjeiroodi

forum.konkur.in

www.konkur.in



) 2 ( -  20  1401       :14     

اضطرارياليدريالپوش خروج ريالوزنهۀ

771 -                    .     12500   

   20           

1 (35/101    2 (5/113  

3 (5/103    4 (25/101  

72 -         

(                   2 1− = ρ .    

    (             .  

      (    .      

1 (2    2 (3  

3 (1    4 (  

73 -             .                

1           ( .  2         (     .  

3          ( .  4.              (  

74 -      × 56 8 10       × 48 10        .31000   

      10=   

1 (68  2 (60  3 (34  4 (74  

75 -                             

    270        4 )  π = 3  = 10  = 51 10      

 (.    

1 (1 5   

2 (3   

3 (3   

4 (2 3   

   

101000

P(Pa)

h(m)

@physicsjeiroodi

forum.konkur.in

www.konkur.in



) 2 ( -  20  1401       :15     

76 -         .                      

  1/5                            

  5 )  ρ = 31000   ρ = 313600  ρ = 3800(  

1 (34  2 (68  3 (136  4 (272  

77 -              × μ78 001 10  × 147 25 10  × 99 1 10  × 33 10  

        .× 12 6 10          

1 (  2 (  3 (  4 (  

78 -               ρ0 75 1 5 ρ2 3  ρ         .

                                

1 (1
2   2 (2   3 (2

3   4 (3
2   

79 -              ...     .  

1  (  2  (  3   (  4  (  

80 -                       .   

   

1        (    .  

2      (     .  

3      (         .  

4        ( .  

@physicsjeiroodi

forum.konkur.in

www.konkur.in



) 2 ( -  20  1401       :16     

  
  

  

  

81 -   

1     (                    .  

2  (1  2                     .  

3          (1 .               

4               (   .    

82 -      

1       (                .       

2.         (  

3             (.         

4   ( .        

83 -      

        (       .     

  (         .  

               ( .      

1 (1  2 (2  3 (3  4 (  

84 -                    3       

         

1(− −800 1750 2750     2(− −800 2750 1750   

3(− −2750 800 1750     4 (− −1750 800 2750   

85 -      

      (  .          

 (       8   4         2   1   .     

       (        .          

 (         .          

1 (1  2 (2  3 (3  4 (4  

 )1 (  20 

    
 1  23 

         
         )1(     10 :    

  10                10 
        

 10   10  

@physicsjeiroodi

forum.konkur.in

www.konkur.in



) 2 ( -  20  1401       :17     

86 -   

1 (20     −2  .  

2  (   17         − .    

3    (31      14          .  

4     (16        14      34   .    

87 -      

      (            .  

   (              .  

   (         235       7/0 .    

 (             5/1 .  

1 (1  2 (2  3 (3  4 (4  

88 -     

     (       .            

    ( .            

           ( .          

   (                 .  

1» ( « »«  2» ( « »«  3( » « »«  4» ( « »«  

89 -× 213 01 10 2  54/0   .      4         

  −= = 116 14   

1 (160  2 (320  3 (108  4 (514  

90 - − +2 6 4           26      80       . 

 

1 (39  2 (36  3 (44  4 (29  

91 -            

  (   .        

.           (  

 (  .    

     (−
0

1 .  

1 (2  2 (3  3 (4  4 (1  

   
  

@physicsjeiroodi

forum.konkur.in

www.konkur.in



) 2 ( -  20  1401       :18     

92 -      

.               (  

(           .  

         (   .           

              ( .      

1 (1  2 (2  3 (3  4 (4  

93 -      20  %    30        %  

      .          )  1 (.   

1 (2/3  2 (4/3  3 (6/3  4 (8/3  

94 -      

1    (2    94  100  .    

2   (       +2  +3  .              

3   ( .                

4   (           .        

95 -          

1 (> >
1632

16 832    2 (> >1 1 1  

3 (= <12 1
6 1

1 112  4 (− = < 1
1

1100 200  

@physicsjeiroodi

forum.konkur.in

www.konkur.in



) 2 ( -  20  1401       :19     

96 -             −= = = = = 132 16 14 12 1 

1 (−2 6 6 12 6     2(−2 2 6 12 6   

3(−2 6 2     4 (−2 2 3   

97 -            

 -   :<  <   

 -   :  <  <   

 -     :    < <   

 -  :        <  <    

1 (  2 (1  3 (2  4 (3  

98 -      

1  (        .        

2            (24   .  

3   (    .     

4   (            6  .

99 -       

        (1  −× 241 66 10 .  

   (                    

 1
4 .  

       (+
2    96/0  .16

8 14
7   

  (               .  

1 (1  2 (2  3 (3  4 (4  

100 -         

     (  1000 .    

    (  .     

     (  .     

 (                    .     

1 (2  2 (4  3 (1  4 (3  

A

nm1500

B �=400nm

C

@physicsjeiroodi

forum.konkur.in

www.konkur.in



) 2 ( -  20  1401       :20     

  
101 -   

1     (                    .  

2  (1  2                   .     

3          (1 .               

4               (   .    

102 -   213936 30    2       2         

(.    )  

1( −     2( −     3( −     4 ( −  

103 -      

        (       .     

  (   .         

   (             .      

1 (1  2 (2  3 (3  4 (  

104 -         

            (         .

  (            .   

     (        .     

.        (

1 (1  2 (2  3 (3  4 (4

105 -      

      (  .          

 (       8   4         2   1   .     

       (        .          

 (         .          

1 (1  2 (2  3 (3  4 (4  

 )1( -   20 

    
 1  19 

       .  

@physicsjeiroodi

forum.konkur.in

www.konkur.in



) 2 ( -  20  1401       :21     

106 -   

1 (20     −2  .  

2  (   17         − .    

3    (31      14      .       

4     (16        14      34   .    

107 -      

         (        .  

   (              .  

   (         235       7/0 .    

 (             5/1 .  

1 (1  2 (2  3 (3  4 (4  

108 -     

1.               (  

2          (   .    

3 (           .      

4  (            .        

109 -× 213 01 10 2  54/0   .      4         

  −= = 116 14   

1 (160  2 (320  3 (108  4 (514  

110 - − +2 6 4           26      80       . 

 

1 (39  2 (36  3 (44  4 (29  

@physicsjeiroodi

forum.konkur.in

www.konkur.in



) 2 ( -  20  1401       :22     

111 -            

  (   .        

.           (  

 (  .    

     (−
0

1 .  

1 (2  2 (3  3 (4  4 (1  

112 - 4/0     64             .   4      

   

1 (× 226 02 10   2( × 223 01 10  3( × 233 01 10  4 (× 239 03 10

113 -      20  %    30        %  

      .          )  1 (.   

1 (2/3  2 (4/3  3 (6/3  4 (8/3  

114 -      

1    (2    94  100  .    

2   (       +2  +3  .            

3   ( .                

4   (           .        

115 -          

1 (> >32 16
16 832  2 (> >1 1 1  

3 (= <12 1
6 1

1 112    4 (− = < 1
1

1100 200  

   
  

@physicsjeiroodi

forum.konkur.in

www.konkur.in



) 2 ( -  20  1401       :23     

116 -            −= = = = = 132 16 14 12 1 

1 (−2 6 6 12 6     2(−2 2 6 12 6   

3(−2 6 2     4 (−2 2 3   

117 -  3 3032 34     .    20       

   )          32 6 (.  

1 (25/0  2 (5/0  3 (75/0  4 (1

118 -      

1  (        .        

2            (24   .  

3   (    .     

4  (             6  .

119 -       

        (1  −× 241 66 10 .  

   (                    

 1
4 .  

       (+
2    96/0  .16

8 14
7   

  (              .  

1 (1  2 (2  3 (3  4 (4  

120 -        

 (2
3          .  

         (3  .    

 (         5   .  

.            (  

1 (4  2 (3  3 (2  4 (1

@physicsjeiroodi

forum.konkur.in

www.konkur.in



   )2(  -  20  1401       :2

  
1 -  »4«  )  (  

          :  
  −− =4 2   

  
= 1

2 = − 1
3   :    

− − = − − − = − − −1 1 1 1 12 1 2 23 2 3 2 3   

 )      3  5 (    
----------------------------------------------  

2 -  »4«  ) (  

  ≤ ≤ ≤ ≥2
2

1 11 15 0 225 225   

.      

  
− ≤ ≥ ≥

=
2 15 5 10 3 30

30 33 36   

    .    
  ∈ ≤ ∈ − −3 15 2 1 0 1 15   

= 0 1 2  
  ≤ ∈ ∈4 15 1 2 15   

= 2 3 15
1 1 1 1
2 2 2 2

   

)      5  7 (    
----------------------------------------------  

3 -  »1«  ) (  

  == + + ⎯⎯⎯→ + + =1 42 21 1 4   
  + + = 4 1   

  = + + = + +2 2
3 22 3 3 2 2 2   

  + + = + + = +9 3 8 4 2 2 
= = = − = −1 2 2 4 2 2   

= + + − = + + − = +2
32 2 18 3 2 20 2   

    +20 2        ∈     
≤ 0     +20 2  5    3 -    :  

  = − = = − +2
33 14 2 3 5   

= − + =2
4 2 4 3 4 5 25 

 )      14  20 (    

4 -  »2«  ) (  

:        

  
:  

  − = + × − + × =2 2
9 8 9 4 9 8 4 8 21   

 )      14  20 (    
----------------------------------------------  

5 -  »3«  ) (  

                  
:  

  − −8 4 2 
= − = −

= − = −

4 1 82
1 24 2

   

                      
 3      .

+ +12 4 6 4 4 4  

)      21  27 (    
----------------------------------------------  

6 -  »1«  )  (  

 .             :  

  

+ + = + + +

− + − + − = −
− + + − +

+ − + = − + + +
+ + = − + + + + + = −

+ + + + + = −

2 2 2 2 2 2
1 3 5 2 4 6

2 2 2 2 2 2
2 1 4 3 6 5
2 1 2 1 4 3 4 3

6 5 6 5 2 1 4 3
6 5 1 2 3 4 5 6

1 2 3 4 5 6

2
2

2 5 5
5 2 5 2

2
5

   

)      21  24 (    
----------------------------------------------  

7 -  »2«  ) (  

   4  6 :    

  = = = =
6

4
4 64 6 46

2 2 3 9
3 3 3

   

)      25  27 (    

-2 b a 4
x

anنهقاط تعداد

ش�ل شچماريالة

1+4
2

1

2 +4  2

2

×
2

3 +4  3

3

×
2

... n

n n+42

) 1( - 

@physicsjeiroodi

forum.konkur.in

www.konkur.in



   )2(  -  20  1401       :3

8 -  »3«  ) (  
      == + −1 1      

    −= 1
1             .

:  

  

==
= + =
= + =

1 11 1
13

10 14 1 1
2620 27 1 1

9
19

   

 =2
14 1 27:    

≠

+ = + + + = +

= ⎯⎯⎯→ =

2 2 2 2
1 1 1 1 1 1 1

02
1 1

9 19 18 81 19
81 81

   

 :       

  + = = =13 13 131 1
109 90 81 9   

)      21  27 (    
----------------------------------------------  

9 -  »3«  ) (  
:    

  

θ = = θ

α = = α

= + −
= + θ − α

1
1

2
2

1 2

5050

2020
100
100 50 20

   

 )   29  35 (    
----------------------------------------------  

10-  »4«  ) (  

  
× − − × −

= =
−− ×2

2 12 1 2 1 62 2
7 73 33 63 2

   

)   29  35 (    
----------------------------------------------  

11-  »1«  ) (  
 ′− =:  

  ′ ′ ′− − = − =   
  ′=   

      :  
  ′ ′ ′ ′ ′= = −   

)      8  10 (    

12-  »3«  ) (  

        4    :  
  :         
    :      
  :      
    :      

  
 20              :    

  + = + + + = + =
20

20 40 20   

15         :    = =15 5   
   5                 

   .            

  + = +5   
+ = 20 :≤ ≤0 20 :    

  ≤ + ≤5 5 25   

)      10  13 (    
----------------------------------------------  

13-  »4«  ) (  

 :    
:          

  = + + × =6 4 2 2 24      

  
  :                   
2

2  .           :    

  =− −= ⎯⎯⎯→ =
2 71 49 1 242 2      

  +
=

2 1
2      

)      14  20 (    

a bc

d

�

�50 20

100

{h1
{h2

h

@physicsjeiroodi

forum.konkur.in

www.konkur.in



   )2(  -  20  1401       :4

14-  »2«  ) (  

  
= + + +

= + + +

2 2

2
2 5 8 30

2 5 8 30
  

       = +      
2 :        + = = −2 0 2   

  
= + = + −

= − = −

5 8 30 5 8 30 2
5 8 30 2 10 2 30 2

   

                 

  :        = −10 2 3   
  − = =3 0 3   

)      14  20 (    
----------------------------------------------  

15-  »2«  )  (  

    ′5     ( )  5   :  

  
′ ′− = + − +

′ ′= − = − = × =
5 5 1 14 4
4 4 4 4 4 16

   

)      21  24 (    
----------------------------------------------  

16-  »4«  ) (  

  

+ + = + =
+ + = + =

= =

1 2 3 1
20 19 18 1

1

27 3 3 27
57 3 54 57

143 10
17 17

   

  = =
1

10
1017

143 143
17

   

)      21  24 (    
----------------------------------------------  

17-  »3«  ) (  

  
+ + + + =

+ + + + + + + + =
+ = + =

1 2 3 4 5
1 1 1 1 1

1 1

200
2 3 4 200

5 10 200 2 40 1
   

  + + = +3 4 5 1 24    

  
+ + + + + = + +

+ = + =
1 1 1 1 1

1 1 1

2 3 4 4
3 9 8 4 2   

  + = = =1
40 401 2 2 40 3 3   

   200
3  .  

)      21  24 (    
----------------------------------------------  

18-  »1«  ) (  

  
=

× = = =

2
3 1 1

2 2
1 1 1

2 5 16 5
2 5 16 5 8 2 2

   

  

=

× = = =

= =

3
4 1 2

3 3
2 2 2

1
2

2 5 16 5
2 5 16 5 8 2

2 2 22

  

)      25  27 (    
----------------------------------------------  

19-  »2«  ) (  
:       

  

  

= =

+
= = + =

= − =

0 2
2

0 1 2
1 2

1

30 0 58 29

45 1 50

50 29 21

   

   21 .    

 )   29  35 (    
----------------------------------------------  

20-  »2«  ) (  
:  

  

Δ

Δ

=
=

=

=

1
2
1
2   

 )   29  35 (    

h}
}

1

h2}
=50d m

45
0

30
0

@physicsjeiroodi

forum.konkur.in

www.konkur.in



   )2(  -  20  1401       :5

  
21-  »4«  )  (  

          :  
  −− =4 2   

  

= 1
2 = − 1

3   :    

− − = − − − = − − −1 1 1 1 12 1 2 23 2 3 2 3   

 )      3  5 (    
----------------------------------------------  

22-  »4«  ) (  

  »4 «:  ∈ < −2 4 1 0 1  
        .  »1 « »2 «   ′   

     .      3   :     
  − −4 3 3 4   

)      5  7 (    
----------------------------------------------  

23-  »4«  ) (  

  

=
= − ∈ =

′ ′ ′− = −
′ ′= = =

2 3 7
2 1 3 5

2 7 2 3 5 7 2 3 5 7 0 1 4 6 8 9

   

)      8  10 (    
----------------------------------------------  

24-  »3«  ) (  
        4    :  

  :         
  :        
  :      
  :        

  
 20              :    

  + = + + + = + =
20

20 40 20   

15         :    = =15 5   

   5                 
   .            

  + = +5   
+ = 20 :≤ ≤0 20 :    

  ≤ + ≤5 5 25   
)      10  13 (    

----------------------------------------------  

25-  »1«  ) (  

  == + + ⎯⎯⎯→ + + =1 42 21 1 4   
  + + = 4 1   

  = + + = + +2 2
3 22 3 3 2 2 2   

  + + = + + = +9 3 8 4 2 2 
= = = − = −1 2 2 4 2 2   

= + + − = + + − = +2
32 2 18 3 2 20 2   

   +20 2    ∈     
≤ 0     +20 2  5    3-     

 :  

  = − = = − +2
33 14 2 3 5   

= − + =2
4 2 4 3 4 5 25 

 )      14  20 (    
----------------------------------------------  

26-  »4«  ) (  
 :    

   :       
  = + + × =6 4 2 2 24      

  
  :                   
2

2  .           :    

  =− −= ⎯⎯⎯→ =
2 71 49 1 242 2      

  +=
2 1
2      

)      14  20 (    

-2 b a 4
x

a bc

d

) 1( - 

@physicsjeiroodi

forum.konkur.in

www.konkur.in



   )2(  -  20  1401       :6

27-  »2«  ) (  

  
= + + +

= + + +

2 2

2
2 5 8 30

2 5 8 30
  

       = +      
2 :        + = = −2 0 2   

  
= + = + −

= − = −

5 8 30 5 8 30 2
5 8 30 2 10 2 30 2

   

                 
  :        = −10 2 3  

  − = =3 0 3   
)      14  20 (    

----------------------------------------------  

28-  »2«  )  (  
    ′5   ( )    5   :  

  
′ ′− = + − +

′ ′= − = − = × =
5 5 1 14 4
4 4 4 4 4 16

   

)      21  24 (    
----------------------------------------------  

29-  »4«  ) (  

  

+ + = + =
+ + = + =

= =

1 2 3 1
20 19 18 1

1

27 3 3 27
57 3 54 57

143 10
17 17

   

  = =
1

10
1017

143 143
17

   

)      21  24 (    
----------------------------------------------  

30-  »1«  )  (  
           :  .    

  

+ + = + + +

− + − + − = −
− + + − +

+ − + = − + + +
+ + = − + + + + + = −

+ + + + + = −

2 2 2 2 2 2
1 3 5 2 4 6

2 2 2 2 2 2
2 1 4 3 6 5
2 1 2 1 4 3 4 3

6 5 6 5 2 1 4 3
6 5 1 2 3 4 5 6

1 2 3 4 5 6

2
2

2 5 5
5 2 5 2

2
5

   

)      21  24 (    

31-  »3«  ) (  

        :     

  

  
=

= −∞
1 4
3   

  − = − −∞ =1 4 3 3 4   

3 4  2    .  

 )      3  5  8  10 (    

----------------------------------------------  

32-  »3«  ) (  

         »3 «   ⊆ ⊆ 

.    

  »3«:  

  
= ∈ − < < =
= ∈ − ≤ ≤ = − ⊆ ⊆
= −

2 0
1 1 1 0 1

2 1
   

)      3  10 (    

----------------------------------------------  

33-  »4«  ) (  

  ≤ ≤ ≤ ≥2
2

1 11 15 0 225 225   

.      

  
− ≤ ≥ ≥

=
2 15 5 10 3 30

30 33 36   

   .     

  ∈ ≤ ∈ − −3 15 2 1 0 1 15   

= 0 1 2  

  ≤ ∈ ∈4 15 1 2 15   

= 2 3 15
1 1 1 1
2 2 2 2

   

)      5  7 (    

1 2 3 4 5

A
B

C

x
0-1

@physicsjeiroodi

forum.konkur.in

www.konkur.in



   )2(  -  20  1401       :7

34-  »2«  ) (  

:       

  
==  .  

  
=
=

= =

1 4 9 16 25 64
1 8 27 64 125

1 64
   

)      8  10 (    
----------------------------------------------  

35-  »1«  ) (  

 ′− =:  

  ′ ′ ′− − = − =   

  ′=   
      :  

  ′ ′ ′ ′ ′= = −   

)      8  10 (    
----------------------------------------------  

36-  »2«  ) (  

′ ′ = −
= − =

= + −
= + − − =
′ ′= = − = − =

40 150 110

110 30 80
80

   

)      8  13 (    
----------------------------------------------  

37-  »2«  ) (  

:        

  
:  

  − = + × − + × =2 2
9 8 9 4 9 8 4 8 21   

 )      14  20 (    

38-  »3«  ) (  

              3 7 11 

       2 4 8    2     

        :     

  
− = −

=
=

4 1 2 1
2 2

   

:    

  
=

=

⎯⎯⎯→ =
⎯⎯⎯⎯→

⎯⎯⎯→ − =

10 10
20

15
29

2 1024 1083
4 15 1 59

Ì¼ \ ¶   

)      14  20 (    

----------------------------------------------  

39-  »1«  ) (  

  − − + + − + = − + +3 2 2 14 5 6 2 2 14 3 2 5 6
ÂMIve  ¾à õwH»

   

  − + = + = =4 28 8 4 24 12 2   

  
+ − <

+ − <
< <

14 10 16 1 100
4 1 6 100
6 102 17

   

       100  .  

)      21  24 (    

----------------------------------------------  

40-  »3«  ) (  

  
+ + + + =

= + + + + + + + + =
= + = + =

1 2 3 4 5
1 1 1 1 1

1 1

200
2 3 4 200

5 10 200 2 40 1
   

  + + = +3 4 5 1 24    

  
+ + + + + = + +

+ = + =
1 1 1 1 1

1 1 1

2 3 4 4
3 9 8 4 2   

  + = = =1
40 401 2 2 40 3 3   

   200
3  .  

)      21  24 (    

A

U

B

C

A

U

B

C

A (B   C)
∩

∩ (A B)   (A C)
∩

∩
∩

anنهقاط تعداد

ش�ل شچماريالة

1+4
2

1

2 +4  2

2

×
2

3 +4  3

3

×
2

... n

n n+42

@physicsjeiroodi

forum.konkur.in

www.konkur.in



  ) 2( -  20  1401       :8

  
41-  »2«  ) (

  »     «     »       

  «  .  

  )     23  (  

----------------------------------------------  

42-  »3«  )  (

                  .   

 :  

  

  << <   

   »3 «.             

.       

  )     22  (  

----------------------------------------------  

43-  »3«  )  (

:       

  

+ > + + − > + <

+ > + + + > − >

+ > − + + > + >

111 11 2 1 2
91 2 1 11 4

11 2 1 1 11 0Â¿ÄkM

   

              < <
9 11
4 2     

        5 :      .  

  = + + = + + =6 6 11 23 
Δ

    

  )     11  (  

44-  »3«  ) (

  
=+ + = ⎯⎯⎯⎯→ + =

> > + >

0780 0180 102
2

   

∈< < ⎯⎯⎯→ =

+ = = − =

0 0 0

0 0 0 0
2 102 51 50

102 102 50 52
  

  )     21  (  
----------------------------------------------  

45-  »2«  ) (

        1 2       

1 2 :          .    

  
 )     )                         ((  
  )      11  12  (  

----------------------------------------------  

46-  »1«  )  (

 »1 :«              
   8  4              

          6   
    .     

  

 »2 :«           − =2 210 2 96    
      .  

 »3 :«    2           
           :  

  + = + = =
+

52 5 1 2 5
1 2

   

 »4 :«       6           
      .  

  )      15  16  (  

45 45
0

0

67
0

68
0 112

0

23
0

A

B C
D

d

d2

1

A

B

�

d

d2

1

A
B

�

C

A B

D C
O

2
4 4

) 1(

@physicsjeiroodi

forum.konkur.in

www.konkur.in



  ) 2( -  20  1401       :9

47-  »2«  )   (

                   
  .     

  

  

== =

= = = +

+ + = + + + + =

+ = =

1
0

0 0 0 0

0 0 0

42
180 42 42 180

84 3 180 32

   

  )     15  (  

----------------------------------------------  

48-  »1«  ) (

         .  

  = +2 2 2 1   
Δ

   

  = +1 1 1 2  
Δ

    

  

+ = + + +

α = α + +

α = α =

1 2 1 2
0 0

0 0

1 2
5 40 20
4 60 15

   

  
  )     21  (  

----------------------------------------------  

49-  »4«  ) (

        5             
 5               5   
         5   .     

           :    
    > 10  
    = 10  

    < 10  

  
  )      10  11  (  

----------------------------------------------  

50-  »4«  ) (

      =     .
                      

.        

  
      :       

  == ⎯⎯⎯⎯→ =1 21 2      

  == ⎯⎯⎯⎯→ =1 22 22      
  = + +      

= + + +  

  = + + + = +
= = × =2 2 4 5 9

   

  )      13  19  (  
----------------------------------------------  

  
51-  »1«  ) (

                    2   
                    3 

           :    

  

A

N

B
M

C
1

2

200 400
D

A

B C

12

2 1

{
{

A
BC

H
d

d

d

'

''

1
2 2

1

21
Q

CB

P

A

M

2

3

O

)1(-  

@physicsjeiroodi

forum.konkur.in

www.konkur.in



  ) 2( -  20  1401       :10

ππ − π = π× − π× = π2 2 2 23 2 5  

  )      10  11  (  

----------------------------------------------  

52-  »1«  ) (

        :  

  

 
Δ Δ

=
= ⎯⎯⎯⎯⎯⎯⎯→ ≅

= = °

=1 2

90

(¾ GI¤ Í ± ò ¦ Ä » oU»)

  

       .    
  )      11  12   (  

----------------------------------------------  

53-  »3«  ) (

                  
       8            .  

            :  

  

= +

= + = + −

2 2

2 2 2

16

9 9 7
  

⎯⎯⎯→ − − + =2 27 7  

− =14 42  
= = = =3 5  

  )     13  (  
----------------------------------------------  

54-  »2«  ) (

     :  
 »1 :«                  

                   
.     

  
 »3 :«             

α   .       

  
 »4 :«                

      .             
         .  

  
 »2 «   14             

  .     
  )      15  16  (  

----------------------------------------------  

55-  »4«  ) (

                   
   .      :  

  

= = = = + =3 4 9 16 52  

     )           (  
  :     

  = = = 5  
     :  

= + = + = =5 3 8 4  

A

1
2

C

M

E

B

D

AM 4

7

5 3

O

x

x

N

D

C
B

�
3/5

3/51

1

180-�0

5 5

55

�

A

B

A

B M

O

C

@physicsjeiroodi

forum.konkur.in

www.konkur.in



  ) 2( -  20  1401       :11

= + = + = =2 2 64 16 80 4 5  
  )     18  (  

----------------------------------------------  

56-  »3«  ) (

  :  

  
+ + + = 360  

+ + + =60 90 90 360

= 120  

            = 120  .  

  :  

+ + + = 360  

  + + + = =40 90 90 360 140  

            = 140.  

  
°

°= =
120 6

7140
  

  )     19  (  
----------------------------------------------  

57-  »1«  ) (

  
       α2            

 − α090          = − α0
1 90 

       − α90       

 = = − α090    =.  
  )     19  (  

58-  »4«  ) (

= =

< +
1

1 2
  

<  

  )     22  (  

----------------------------------------------  

59-  »2«  ) (

               
               

  .     :     

  

  
+ > − >
+ − > > ⎯⎯⎯→ < <

+ − > >

10 5 20 5
10 20 5 25 5 15
5 20 10 15

¥HoT{H  

  )     27  (  

----------------------------------------------  

60-  »4«  ) (

  
                  

              ′  
      .    )   (

             .
  :    

  ⊥
′

′ ⊥
   

    ′          
        .  

  )     24  (  

AAB

C

Hc

Hb

H

Ha

A

aa

B C

E D

5 5

20

20-

10

A BM

dd′

2

@physicsjeiroodi

forum.konkur.in

www.konkur.in



   )2(  -  20  1401       :12

  
61-  »4«  ) (

        33  2      
           :    

  
3 3 31025 4 254001= × =   

  
22 2

4 2
10 04 400

10−= × =   

  
3 225400 400= == ⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯→   

  25400 127
400 2= = =   

  127 1 252 2 54= × =   

)      10  13 (     

----------------------------------------------  

62-  »3«  ) (

         2    

    
3

 . :         

  24 4α β ⎯⎯⎯⎯⎯→JIT{ ÁI§Ä   

  
2 2 2

2 2 3 2 6 2
10 1 4 104 4 1 10 10

− −

− −
×= × × =   

  4
24 10= ×   

  
3

4 4α β ⎯⎯⎯⎯⎯⎯⎯⎯⎯→´\e RHoÃÃûU ª¹ÀA ÁI§Ä  

  
3 2 33

3 3
10 14 4

1 10

−

−= × ×   

  
6 3 33

3
4 10 4 10

10

−
−

−
×= = ×   

)      10  13 (     

63-  »2«  ) (
          .      

 ( )  04 .  

  
0 020 45= =     

           ( )   
          ( )   .  

00 2     00 1  .  
)      14  15 (     

----------------------------------------------  

64-  »1«  ) (
      :     

  1 1 2
2 2 1

ρ
ρ = = ×

ρ
   

      1 2=        .
         :    

  1
2

650 150 500 2
900 150 750 3

ρ −= = =
ρ −

   

)      16  18 (     
----------------------------------------------  

65-  »2«  ) (

              
      .         

  :       
  = +½k{I]ï¾MI]¸ÄoÃvÃ±¬ ½k{ qÄnow¸ÄoÃvÃ±¬½k¶A ̄ IM ¸ÄoÃvÃ±¬   

  = Δ +
ρ

½k{ qÄnow¸ÄoÃvÃ±¬

¸ÄoÃvÃ±¬
  

  312520 22 17 100 100 2001 25= × − + = + =   

        :  

  35000 50010= = =
ρ

´v]
´v]

´v]
   

  200100 100 40500× = × =
¾TÎn »oÎ ´v]

´v]
%   

)      16  18 (     

) 1(

@physicsjeiroodi

forum.konkur.in

www.konkur.in



   )2(  -  20  1401       :13

66-  »1«  ) (

                 

     :     

  == + ρ + ρ =   

  3 310 15

910 10 15 910 1
ρ = ρ =

=
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯→ + =  

  65 2= + + =  

10 15 910 10 15 9101 2
10 10 10 65065

+ = + =
⎯⎯⎯⎯→ × − − − =−+ = ⎯⎯⎯⎯→

 

  35 260 52= =   

     :       

  52 4100 100 8065 5= = × = × = %      

 )      16  18 (     

----------------------------------------------  

67-  »3«  ) (

      4/0  :       

  (*)0 4 0 4=ρ= ⎯⎯⎯⎯→ = ρq±Î ½o¨ ½o¨ q±Î q±Î   

   :       

  3 3 34 4 2 323= π = × =q±Î ½oÿe   

3 3 3 3 3 34 4 3 2 4 193= π − = × − = ×½o¨ ½o¨ ½oÿe    
    :  (*)  

  0 4ρ = ρ½o¨ ½o¨ q±Î q±Î  

  3
5 7 32 60 4 4 19

×ρ = =
× ×½o¨   

)      16  18 (     

----------------------------------------------  

68-  »4«  )  (

             

.   )»1(«  

   .            

  )»2(«  

               

   ) .»3(«  

)      24  25 (     

----------------------------------------------  

69-  »2«  ) (

                

    ( )         .     

)     30 (     

----------------------------------------------  

70-  »3«  )  (

               

              

   )            

   (              

      .          

               

    .  

)      30  32 (     

----------------------------------------------  

71-  »3«  (  )  

       0= + ρ   − 

  ρ        0     .

 20  :          

0
2101000 12500 10350010= + ρ = + × =   

103 5=   

 )      33  37 (    

@physicsjeiroodi

forum.konkur.in

www.konkur.in



   )2(  -  20  1401       :14

72-  »3«   ) (  
    (           

    22 1− = ρ        

                

.    

       (          .  

.       (  

 )      33  37 (    

----------------------------------------------   

73-  »2«  (  )  
                

            .  

 )      29  30 (    

----------------------------------------------   

74-  »2«   (  )  
                 

       = + ρ0 :  

= + ρ ρ = −

ρ = × − ×

0 0
4 468 10 8 10

    

× × = × =51000 10 6 10 60   
)      32  37  (    

----------------------------------------------  

75-  »4 «   ) (  
           .        4   

                   

  :  .  

=
=π

= + ⎯⎯⎯⎯→ = +
π20 0 2   

= = × = =

= = = π=
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯→

5 5
04 4 10 1 10

270 0 27 10 3
   

×
× = + × =

× ×
5 5 5

2 2
0 27 10 2 74 10 10 3 10

3 3
   

−= = ×
× ×

2 6
5

2 7 3 10
3 3 10

 

−⎯⎯⎯⎯⎯→ = × = = = 33 10 3 2 2 3    

)      32  37  (    

---------------------------------------------- 

76-  »2 «  (  )  

          :  

  = ρ = ρ   

= × 800 13600 5 1    

 86 7=  

   

                

0 1  .   

  

   = ρ = ρ + ρ  

800 86 7 13600 0 1 1000× = × / + ×   

68=  

h
5/1

B

cm

A

ال�ل ال�ل

ج�وه

} }

h

D

C

cm

cm

آب
ال�ل

ج�وه

} }
}

86/7

0/1

@physicsjeiroodi

forum.konkur.in

www.konkur.in



   )2(  -  20  1401       :15

                

 :  .           

  

  = ρ + ρ = ρ  

800 86 7 13600 0 1 1000× + × = ×   

70 72=   

       .     

)      32  37  (    

----------------------------------------------  

77-  »4 «  (  )  

                   

    .             

           .  

−
× μ × = ⎯⎯⎯⎯⎯⎯⎯⎯⎯→

μ

6    7 108 001 10 80 01 0 011
    

−
× × = ⎯⎯⎯⎯⎯⎯⎯⎯⎯→

15    14 107 25 10 0 725 0 0011
  

−
× × = ⎯⎯⎯⎯⎯⎯⎯⎯⎯→

9    9 109 1 10 9 1 0 11
  

3    3 103 10 3 11
−

× × = ⎯⎯⎯⎯⎯⎯⎯⎯⎯→  

   12 6 10×  :     

−
× × = ⎯⎯⎯⎯⎯⎯⎯⎯⎯→

2    1 102 6 10 0 26 0 011
  

         .           

)      14  15  (    

78-  »3 «   )(  

    ρ > ρ > ρ          

         .          

  .      

2 2
3 3

1

= =
ρ ρ

=
ρ = =

ρ ρ

   

               

 :  

2
23 1 31

ρ= = = × = × =

ρ

   

)      16  18 (    

----------------------------------------------  

79-  »3 «   ) (  

                       

      .           

                 

  .       

)      28  32 (    

---------------------------------------------- 

80-  »3«  (  )  

               

                  

.    

 )      14  15 (    

h

D

C

cm

cm

ال�لآب

ج�وه

} }
}

86/7

0/1

@physicsjeiroodi

forum.konkur.in

www.konkur.in



   )2(  -  20  1401       :16

  

81-  »4«  (  )

                    

    .  

)  1 2  4  (  

----------------------------------------------  

82-  »1«  » «

   :

 »2 :«            

.    

 »3 :«               

    .      

 »4 :«         .    

)  19  21  (  

----------------------------------------------  

83-  »1«  » «

  » « .    

   (4                 

 .  

  )4  (  

----------------------------------------------  

84-  »3«  » «

(  ) 00800  

(  ) 01750    

  (  ) 02750   

                 

.  

 )21  (  

----------------------------------------------  

85-  »2«  » «

   .   ( )  ( ) 

 (   .              

 (8 .           

 )  3 9  11  (  

----------------------------------------------  

86-  »4«  » «

   :  

 »1 :«20              

 2 +   .  

 »2 :«                

   − .    

 »3 :«31   13   4        .   

.       

)  9  13  (    

----------------------------------------------  

87-  »2«  » «

   .   ( )  ( ) 

.            (  

)1(- 

@physicsjeiroodi

forum.konkur.in

www.konkur.in



   )2(  -  20  1401       :17

 (999
43     5/1  .  

56 1 343=   

)  6  9  (  

 ----------------------------------------------  

88-  »3«  » «

  .   ( )  ( ) 

     ( .       

   (              .    

  )  19  23 (   

----------------------------------------------  

89-  »2«  » «

  
210 54 3 01 102 2

1 2 2
23 16 02 10 22

108

= ×

× ×
×

=

¼§²¼¶

¼§²¼¶

 

2 2 5

2 5
2 5

28 16 108 5
5 164 3201 1

= + = =

= × × =
   

)  16  19  (  

----------------------------------------------  

90-  »1«  » «

             26        

     +)      4           (

:    

  

0 8

262
4
4 262

2 48 40=

− =

= +
−= +

− = ⎯⎯⎯⎯→ =

   

              80         

 :  

400 8 2 6 1 8 40 2 6 39=+ = − ⎯⎯⎯→ × = − =    
)  5  6  (  

----------------------------------------------  

91-  »3«  »  «

   

0
1−

1-0005/0

1
1+

1+0073/1

1
000087/1

      :1 008 .  

)  13  15  (    

----------------------------------------------  

92-  »3«  » «

 .   ( )    

        .

)  19  23  (  

----------------------------------------------  

93-  »2«  » «

    ←2
1 1  

   5
1 2←    

  ←3
1 3    

  1 1 2 2 3 3
1 2 3

+ +
=

+ +

@physicsjeiroodi

forum.konkur.in

www.konkur.in



   )2(  -  20  1401       :18

  2 20 5 30 3 50 3 4100
× + × + × =   

  )  5 6  15  (  

----------------------------------------------  

94-  »2«  » «

  :  

 »1 :«     35  37         

24 25  26   .         2   

  94  100   .      

 »2 :«                    

             .     

 »3 :«  .          

                 .  

 »4 :«                 

235           .

)  5  8  13  19 (     

----------------------------------------------  

95-  »4«  » «

  

1
1

0 05

1 100200

0 005 100 0 0005 1

−< <

< × <

 

)  13  15 (     

----------------------------------------------  

96-  »2«  »  «

            :      

      1    × ×
³o¬

Â²¼¶ ³o]
   

      (    )   :  

  
= = =

= =
2 2 3 2 6

6 12 6 2

60 80 30
180 64   

                

  :          

  6 12 6
24 224180 180 15× × = =   

2 2
8 2860 60 15× × = =  

3
4 1480 80 20× × = =  

2 6
8 4830 30 15× × = =  

× × =2
3364 64   

        6 12 6   

2 2 .    

 )  16  19 (     

----------------------------------------------  

97-  »3«  » «

        15   20     .

:     

      :   :  

 <  <   

      :   :  

 < <   

 )20  (  

@physicsjeiroodi

forum.konkur.in

www.konkur.in



   )2(  -  20  1401       :19

98-  »2«  »  «

  :  

 »1 :«   .           

            .     

 »2 :«             

     .224 25  26    

24  80         24     

 .  

 »3 :«      .       

 »4 :«    3
1       

          2 .  

 )  6  13  19  (    

----------------------------------------------  

99-  »2«  »  «

  ( )  ( )    .  

:     

:  

  3
1 3 1 2→ − = =        

  7
1 7 1 6 ′→ − = =        

  1
3→ =

′
  

 :  

  2 14 7 2 16 8 23+ = − + − =    

  + = + × =2 7 2 8 23    

  2223 1 22 0 9623= − + = = = −   

 :        :  

< < < <7 4 6 5 3
1 1 1 1 1   

                  

 .     

)  5 6  17  (  

----------------------------------------------  

100 -  »3«  »  «

.   ( )    

  :     

 » « 1500   5/1 .     

  ÷ =1500 1 5 1000   

 » :«              

  1000 .  

 » :«         700-400       

     .     

 » :«       .      

      .  

)  19  21  (  

----------------------------------------------  

101 -  »4«  » «

                    

    .  

)  1 2  4  (  

 )1(- 

@physicsjeiroodi

forum.konkur.in

www.konkur.in



   )2(  -  20  1401       :20

102 -  »3«  » «

3    .       

2   .     

)  9  13 (     

----------------------------------------------  

103 -  »1«  » «

  » « .    

   (4                 

 .  

  )4  (  

----------------------------------------------  

104 -  »2«  » «

 .   ( )  ( )   

  :    

  :( )               

.          

    :( )               

 .      

 )  2  4 (     

----------------------------------------------  

105 -  »2«  » «

   .   ( )  ( ) 

 (   .              

 (8  .          

 )  3  9  11  (  

106 -  »4«  » «

   :  

 »1 :«220              

 2 +   .  

 »2 :«                

   − .    

 »3 :«31   13   4        .   

.       

)  9  13  (  

----------------------------------------------  

107 -  »2«  » «

   .   ( )  ( ) 

.            (  

 (99
43     5/1  .  

  56 1 343=   

)  6  9  (    

----------------------------------------------  

108 -  »1«  » «

    :  

 »2 :«              

    .    

 »3:«  
2 232 16

16 32132 32

× =
>

× =
   

@physicsjeiroodi

forum.konkur.in

www.konkur.in



   )2(  -  20  1401       :21

 »4 :«                 

.       

)  13  19 (     

----------------------------------------------  

109 -  »2«  » «

  
210 54 3 01 102 2

1 2 2
23 16 02 10 22

108

= ×

× ×
×

=

¼§²¼¶

¼§²¼¶

 

2 2 5

2 5
2 5

28 16 108 5
5 164 3201 1

= + = =

= × × =
   

)  16  19  (  

----------------------------------------------  

110 -  »1«  » «

             26        

       +)    4           (

:    

  

0 8

262
4
4 262

2 48 40=

− =

= +
−= +

− = ⎯⎯⎯⎯→ =

   

            80      

:    

  
400 8 2 6 1 8 40 2 6

39

=+ = − ⎯⎯⎯→ × = −
=

   

)  5  6  (  

111 -  »3«  »  «

   

0
1−

1-0005/0

1
1+

1+0073/1

1
000087/1

      :1 008 .  

)  13  15  (    

----------------------------------------------  

112 -  »2«  » «

                 .      

    

  64 0 4 1601= × =   

       :  

  = = =1602 2 80Â²¼¶ ³o]

Â²¼¶ ³o]
   

         :  

  
231 6 02 104 80 1

×= × ×´UH   

  223 01 10= ×

)  16  19 (     

----------------------------------------------  

113 -  »2«  » «

    ←2
1 1  

@physicsjeiroodi

forum.konkur.in

www.konkur.in



   )2(  -  20  1401       :22

   55
1 2←    

  ←3
1 3    

  1 1 2 2 3 3
1 2 3

+ +
=

+ +

  2 20 5 30 3 50 3 4100
× + × + × =   

  )  5 6  15  (  

----------------------------------------------  

114 -  »2«  » «

  :  

 »1 :«     35  37         24 

25  26   .      2       

94  100  .      

 »2 :«                    

             .     

 »3 :«          .  

     .                  

   .  

 »4 :«    .             

   235                

 .

)  5  8  13  19 (     

115 -  »4«  » «

  

1
1

0 05

1 100200

0 005 100 0 0005 1

−< <

< × <

 

)  13  15 (     

----------------------------------------------  

116 -  »2«  » «

            :      

      1    × ×
³o¬

Â²¼¶ ³o]
   

      (    )   :  

  
= = =

= =
2 2 3 2 6

6 12 6 2

60 80 30
180 64   

                

  :          

  6 12 6
24 224180 180 15× × = =   

2 2
8 2860 60 15× × = =  

3
4 1480 80 20× × = =  

2 6
8 4830 30 15× × = =  

× × =2
3364 64   

        6 12 6   

2 2 .    

 )  16  19  (   

@physicsjeiroodi

forum.konkur.in

www.konkur.in



   )2(  -  20  1401       :23

117 -  »4«  » «

  

30

32 1

34 2 3

2 3

20 0 2100
0 8

0 8

→
= =

→
+ =→

= −

¦Lw

ôw¼T¶

¸Ã«¹w
   

  1 2 1 2 3 1 3= + − × + − ×   

  

3 3

3
3

2

3
1 2

1 2

32 6 30 0 8 2 4
500 5 30

50 1

= + − +

=
=

=

+ = =
+

%

%
 

)  13  15 (     

----------------------------------------------  

118 -  »2«  »  «

  :  

 »1 :«    .          

            .     

 »2 :«             

     .24 25  26    

24  80         24     

 .  

 »3 :«      .       

 »4:«     3
1       

           2 .  

)  9 13  19  (  

119 -  »2«  »  «

  ( )  ( )    .  

:     

:  

  3
1 3 1 2→ − = =        

  7
1 7 1 6 ′→ − = =        

  1
3→ =

′
  

 :  

  2 14 7 2 16 8 23+ = − + − =    

  + = + × =2 7 2 8 23    

  2223 1 22 0 9623= − + = = = −   

  :       :  

< < < <7 4 6 5 3
1 1 1 1 1   

                  

 .     

)  5  6  (  

----------------------------------------------  

120 -  »3«  » «

.   ( )  ( )   

:     

 (2   3              

       .       

  .            (

)  5  6 (     

@physicsjeiroodi

forum.konkur.in

www.konkur.in




